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General Instructions :
Read the following instructions very carefully and strictly follow them :

(a)  This question paper consists of two sections viz. Section A : Employability
Skills and Section B : Subject Skills.

(b)  Section A : Employability Skills (10 Marks)
(i) Answer any 4 questions out of the given 6 questions of 1 mark each.
(it) Answer any 3 questions out of the given 5§ questions of 2 marks each.
(c) Section B : Subject Skills (40 Marks)
(1) Answer any 10 questions out of the given 12 questions of 1 mark each.
(it) Answer any 4 questions out of the given 6 questions of 2 marks each.
(iii) Answer any 4 questions out of the given 6 questions of 3 marks each.
(iv) Answer any 2 questions out of the given 4 questions of 5§ marks each.
(d)  This question paper contains 39 questions out of which 27 questions are to be

answered.
(e)  All questions of a particular part/section must be attempted in the correct
order.
§2) The maximum time allowed is 2 hours.
SECTION A
(Employability Skills) (10 Marks)
Answer any 4 questions out of the given 6 questions of 1 mark each : Ix4=4

1. My new dress is black and white.
This is an example of which type of sentence ? 1
(A) Imperative
(B)  Declarative
(C)  Interrogative
(D) Exclamatory

2. Students can focus their mind and become calm by 1
(A)  Exercise
(B)  Yoga

(C) Playing
(D)  Sharing

3 P.T.O.



FrR W, fuselt f5hn &1 f@d (Reverse) & % fou oma fopm wridepe it
(shortcut key) <l TN HAT ? 1
(A) Ctrl+Z

(B) Ctrl+V

(C) Ctrl+P

(D) Ctrl+B

Ik AT 8 W fRe 39 IR % ufq TR ®9 ¥ g 8 9 8 | 98
WIS WHT 9 R ¢d 3 | 98 ford Yok & 9919 8 UEd 81 Hehd & ? 1

(A) i

(B) 3

(C) wHfEH

(D) HEIRh

TH.T9.E1.T%. (NSDF) %l I0f €9 1 8 ? 1

(A) A AR STAHE Ev_t'iﬁa_c'iﬁ'é (National Social Development
Fulfillment)

(B) H3CAA HHTSEA SIIHE he (National Societal Development Fund)

(C) 3 Gfd" gaayde % (National Service Development Fund)

(D) A3 fehdd S ®S (National Skill Development Fund)

3-37UfITSe (E-waste) T o1 Gftiiford gram 8 ?

ek BT 1

(A)  IRR

(B) =

(C) SoTaRIT-eh IYhT]

(D) JAEIR

fow 10 5 3991 4 @ 51 8 I & I ST | 9% o7 2 37k FT & | 2x3=6

7.
8.

9.

10.
11.

.96,

Teh ITH! o IR AT &1 hl Tl T6Y | 2
TR ! AR ThAU § T & IR qlieh YT | 2
Tina is wearing pink shoes for her birthday.
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3. To reverse the last action, which shortcut key will you use on the
computer ? 1
(A)  Ctrl+Z
(B) Ctrl+V
(C) Ctrl+P
(D) Ctrl+B
4, When overweight, adolescents become critically conscious of their body.
They stop eating food. They may suffer from which type of stress ? 1
(A) Physical
(B) Financial
(C) Mental
(D)  Social
5. What is the full form of NSDF ? 1

(A) National Social Development Fulfillment
(B) National Societal Development Fund

(C) National Service Development Fund

(D) National Skill Development Fund

6. What does E-waste include ?

Discarded 1
(A)  tyres
(B) glass

(C)  electronic devices

(D) newspaper

Answer any 3 questions out of the given 5 questions of 2 marks each : 2x3=6
7. List four commercial functions of an entrepreneur. 2
8. Suggest four ways to prevent virus infection in a computer. 2
9. Tina is wearing pink shoes for her birthday.

Identify the noun, verb, adverb and adjective in this sentence. 2
10. Mention two sectors of Green Economy. 2
11. What do you understand by self-awareness and self-regulation ? 2

.96 5 P.T.0.
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13.

14.

15.

.96,

HH-1 foerfie gepe 9t oft v 777 |ia1 @ 2

(A)
(B)
(&)
(D)

IERAIECRY
et <t
fererfim <

Sudh W A HIS TR

qT9 ¢ 9, -1 GifSsh Gt ST (coagulate) B SITAT B ?

(A)
(B)
(®)
(D)

41
[ECUEC]
e

HIEEEES

fsfog o9 W T AT i1 SIS HEt 81 Smaf 2

(A)
(B)
©
(D)

g&d (tough)
el (soggy)
I (soft)

el (dry)

foepe T & fou we-E ures fafer s 6 St @ 2

(A)
(B)
(®)
(D)

fufert (Grilling)
aifem (Poaching)
AT (Roasting)
Sk (Baking)

(40 31eR)

Ix10=10



SECTION B
(Subject Skills)

Answer any 10 questions out of the given 12 questions of 1 mark each :

12. Which vitamin is not destroyed by cooking ?

(A)
(B)
(&)
(D)

Vitamin A
Vitamin B
Vitamin C

None of the above

13. Which nutrient coagulates when heat is applied ?

(A)
(B)
©)
(D)

Fats
Vitamins

Proteins
Carbohydrates

14. A very fresh bread when used for making sandwiches will become

(A)
(B)
(&)
(D)

tough
S0g8y
soft
dry

15. Which method of cooking is used for making biscuits ?

(A)
(B)
(&)
(D)

Grilling
Poaching
Roasting
Baking

(40 Marks)

Ix10=10
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16.

17.

18.

19.

T Fellss drefere o1 3gEw 8

(A) F9 Sl

(B) &M

(C) WH Fesfo=

(D) 39Ih T ° BIS 5l

IH-A1 TATE T$97¢ (Dessert) 1 T8 TUHT ST Tehal § ?

(A)
(B)
(®)

(D)

fRa-grashia (SAFIAAfesH) qull i wgm@al ¥ @HT TS hl fRA @

%< "l

UTEAT Hedlg

o
ST HAG

M Hote

HEAT & 2

(A) SfT (Baking)

(B) $SaMH (Induction)

(C) U9 Pk (Pressure cooking)
(D) R FHfHT (Solar cooking)

STl (Coleslaw) TS Tsh I2TELT &

(A)
(B)
(®)
(D)

M AT T

T TATE

%< TS H1
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16.

17.

18.

19.

An example of closed sandwich is

(A)
(B)
(&)
(D)

Which salad can be served as dessert ?

(A)
(B)
©)

(D)

Club sandwich
Canapes
Face sandwich

None of the above

Fruit salad
Pasta salad
Vegetable salad

Protein salad

The process in which cooking of food is done with the help of
electromagnetic waves is called

(A)
(B)
©
(D)

Baking
Induction
Pressure cooking

Solar cooking

Coleslaw salad is an example of

(A)
(B)
(&)
(D)

Protein salad
Vegetable salad
Fruit salad

Pasta salad

P.T.O.



20.

21.

22,

23.

.96,

U I MET A | ITF0 Ry I et ggred w1 ISTET 3

(A)
(B)
(&)

(D)

I8 (Basil)
KEELII

EIEN|

I1gH (Thyme)

frafcifiea gu o 9 H-A1 T g9 H 3G 3 ?

(A) TETE! (Gazpacho)

(B) @Al

(C) faf¥mwars (Vichyssoise)

(D) 3hIW A6 W

30 STe § Tfestl i Yo o1 9T §¢ I1dT 2 |
INIEICY

(B)  difeRT €rer

(C) dfeh URER

(D) +Hs%

%9 WTEH (french fries) S 3] 38 YR o e (cut) T JIT BT 8 :

(A)
(B)
(&)

(D)

‘{%PFT (Julienne)

EE| (Wedge)
Erc| (Baton)

I99 (Chunks)

10



20.

21.

22.

23.

An example of thickening agent used in soup is
(A) Basil

(B) Bay leaf

(C) Rice

(D) Thyme

Which of the following soups is an example of hot soup ?
(A) Gazpacho

(B) Sarki

(C)  Vichyssoise

(D) Cream of tomato

Cooking time of vegetables increases with the addition of
(A) Lemon

(B) Baking soda

(C) Baking powder

(D) Salt

This type of cut is used to cut potatoes for french fries :

(A) Julienne

(B) Wedge
(C) Baton
(D) Chunks

11
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137 7T 6 771 H & [375] 4 971 & IR G | T4% Jo7 2 37% F & | 2x4=8
24. 9HM % 4R I fARaT | 2
25. A (Canapes) 8 319 991 THIA 8 ? $9oh o1 & Y™ (toppings) 1 g
B 2
26. HIURU TG AMeh Tag 9 fordt SR i 2 2 2
27. %(I'EIFFIS@YF[ (caramelization) 3 379 WH@%% ? @Wﬂ?ﬁmaﬁ? | 2
28. sh¥ (cream) FLC[QTJT WE (purée) ?an% & T @ fafau | 2

o o o

29. Tr=fafiad s =1 T S ST 2
(a) HIEH I KOS H HISHU[ h{AT =17T |
(b) &G T ikl (cloves) HT AN A % qid T8 dreT =1MET |

130 77 6 5991 4 @ [787 4 Fo91 & ok ST | Gk Jo7 3 37b FT & | 3x4=12
30. I % HIEAH H Yoh <kl 9 fafem <1 auia Hifsw | 3
31. fm=fafea § st Tose hifsw - 3

(a) AT (Boiling) @ TmTGT (Simmering)
(b) ST (Broiling) @ fiifel (Grilling)
(c) WA (Poaching) @ @T (Stewing)
32. G<faw % e 3 fhicm #i g YT THSARY | T h Th-Ush IaTal
g | 3
33. THfaRad ¥U & ST 91 & ? 3
(a) % (Bisque)
(b)  Id (Veloute)
(c)  =38SL (Chowders)
34. WM YehId ¥9F W¥eh-awdl (nutrients) guera @ &+ B gzma fafen |
35. fafaRaa fuwie (pigment) W e a1 aiia wey <1 o= IWTE U<dT B 2
(a) WIdH (Flavones)
(b) W—aﬁ'FITQﬁF[ (Anthocyanin)
(¢)  FARI%A (Chlorophyll)
.96 12
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Answer any 4 questions out of the given 6 questions of 2 marks each : 2x4=8
24. Give four objectives of cooking. 2
25. What do you mean by canapes ? Suggest two toppings for it. 2
26. How is simple salad different from compound salad ? 2
27. What do you understand by caramelisation ? Give a suitable example. 2
28. Write one difference between cream soups and purée soups. 2
29. Give one reason for each of the following : 2
(a)  Mushrooms should be stored in paper bags.
(b)  Garlic cloves should be broken just before use.
Answer any 4 questions out of the given 6 questions of 3 marks each : 3x4=12
30. Describe three methods of cooking using medium of fat. 3
31. Differentiate between the following : 3
(a)  Boiling and Simmering
(b)  Broiling and Grilling
(c) Poaching and Stewing
32. Explain two roles each of spread and filling of a sandwich. Give one
example of each. 3
33. How are the following soups prepared ? 3
(a)  Bisque
(b)  Veloute
(¢)  Chowders
34. Write six tips to save nutrients while preparing food. 3
35. What is the effect of acidic or alkaline medium on the following
pigments ? 3
(a)  Flavones
(b)  Anthocyanin
(¢)  Chlorophyll
.96, 13 P.T.0.
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fev 77 4 5991 4 G f47 2 Io91 & IR 9T | 9% J975 37 HT & | 5%2=10
36. (a) Y % IfSUH (Radiation) W& s<a¥9 (Conduction) f&rgral shi samean
Hife |
(b) Tre=AfcRaa ares Tl <1 989 8§ guig Shifse
(1) SIS (Braising)
(ii) T (Baking)
(iii) UM (Roasting) 2+43=5
37. (a) HdIC %l YNNG il |
(b) TG o TIfS= AW (parts) 1 T&I YT THIAST | 1+4=5
38. (a) Tl i e=igl qui &1 Ui HIT |
(b) YU I THEY UINH R THT 1T 8 ? & Rl foAfay | 3+2=5
39. QN 37eleh, AR, NN, A Td A8y @iied o ot o119 &19-8 g1 Ul
Frferor =&t 2 5
96 | 14
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Answer any 2 questions out of the given 4 questions of 5 marks each :

36. (a)
(b)
37. (a)
(b)
38. (a)
(b)

Elaborate radiation and conduction principles of heat.
Briefly describe the following methods of cooking :

(1) Braising

(ii)  Baking

(iii) Roasting

Define salads.

Explain the main role of different parts of a salad.

Describe any three international soups.

Why is soup considered as a healthy food ? Write two reasons.

5x2=10

243=5

1+4=5

3+2=5

39. What two qualities each will you check to buy fresh ginger, tomato,
carrot, peas and garlic ?

96
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